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B R & K (6-102)

T f& Al Al S - B AR | BRGEHEE | (R
+T
g+ (C) m3 14.0 13.9
%+ (B) m3 54.0 54.1
PRYE (CF) m3 21.0 21.0
ML (BF) m3 13.0 13.2
& T L=5.7km m3 40.0 39.9
EHEL
BN RFAIIE 5 m2 25.0 25.0
o BT T m2 60.0 59.9
TE 1A m2 25.0 25.0
BT
FE PSR T 222 13mm t=4cm m2 177.0 177.0
LE AR P ARG (RM-40) t=8cm m2 137.0 137.0
T R FETyY4—7/(RC-40) t=12cm m2 137.0 137.0
P T
URL{HIT(300) X PU300 X 300 m 10.0 10.0
UALI#E(300) TR - 2R PU300 X 300 m 24.8 24.8
U (600) PU600 X 600 m 7.2 7.2
EIEIAITE(600) HERE m 8.5 8.5
[ |
T A
A =NV—N () Gr-C-4E m 20.0 20.0
T
18-8-20
[EUENZRN t=5cm m2 60.0 59.9
MWET
T A
H=NV—ME Gr-C-4E m 20.0 20.0
AsEli2E Y] t=4cm m 12.0 11.8
Ashlieti = t=4cm m2 148.0 148.2
AsiRIE - A5 L.=9.8km m3 5.9 5.9
V=0.01m3
AsHIWrGIRAL 5 2y 1.0 1.0
Coff i iR L L3Il m3 9.3 9.3
Cor it - /5y L.=9.8km m3 9.3 9.3




+ T % & K H #
v PR H % it = =y ¥ =¥ I
Bt T EFEELY
m3
o+ (©) 13.9 13.9
Bt T EFEELY
m3
4 (B) 54. 1 54. 1
MRt THEEELY FELET
m3
R (CF) 10. 7 + 10. 3 21.0
MRt THEEELY FELET
m3
PR L (BF) 8.0 + 5.2 13.2
R (= (FRE1)=0.9((13.9 + 21.0) -( 541 + 132/
B+ iE 0.9 (39.9)| m3




¥ =N = Sk
+ T % & B & E
HSEYF L= 20.000 §1+(C) %+B)
WiERE | EEIMTERS WrERE | R
i R obE (Ewong| ¥ B aVIE=S ¥ &

NO. 0 + 0.000 0.0 0.0
NO. 0 + 10.000 10.000 0.2 0.10 1.0 0.2 0.10 1.0
NO. 1 + 0.000 10.000 0.0 0.10 1.0 0.8 0.50 5.0
NO. 1 + 2.000 2.000 0.0 0.00 0.0 0.7 0.75 1.5
NO. 1 + 6.000 4.000 0.6 0.30 1.2 6.8 3.75 15.0
NO. 1 + 8.500 2.500 1.0 0.80 2.0 7.7 7.25 18.1
NO. 1 + 11.000 2.500 1.0 1.00 2.5 1.7 4.70 11.8
NO. 1 + 12.000 1.000 1.4 1.20 1.2 0.1 0.90 0.9
NO. 1 + 17.000 5.000 0.6 1.00 5.0 0.2 0.15 0.8

) 37.000

i 13.900 54.100




¥ =N = Sk
+ T % & B & E
WA yF L= 20.000 A AE(CF) MELBF)
WA | ST WA | T A
b s OhE | ok B B DhE s

NO. 0 + 0.000 0.4 0.3
NO. 0 + 10.000 10.000 0.3 0.35 3.5 0.2 0.25 2.5
NO. 1 + 0.000 10.000 0.3 0.30 3.0 0.3 0.25 2.5
NO. 1 + 2.000 2.000 0.2 0.25 0.5 0.2 0.25 0.5
NO. 1 + 6.000 4.000 0.3 0.25 1.0 0.2 0.20 0.8
NO. 1 + 8.500 2.500 0.3 0.30 0.8 0.2 0.20 0.5
NO. 1 + 11.000 2.500 0.3 0.30 0.8 0.2 0.20 0.5
NO. 1 + 12.000 1.000 0.3 0.30 0.3 0.2 0.20 0.2
NO. 1 + 17.000 5.000 0.0 0.15 0.8 0.0 0.10 0.5

) 37.000

g 10.700 8.000
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4 g A = o & |H 7

EET

B HEmEE 25.0 = 25.0 25.0 | m2
AR

R 59.9 = 59.9 59.9 | m2
AR

e il 25.0 = 25.0 25.0 | m2
AR




4 = T £ F
G 7 A =Y B & [H AL
SET
IR
AT 177.0 177.0
#* B AR FET A2(13mm)t=4cm 177.0 177.0 | m2
b AR (RM-40)t=8cm 137.0 137.0 | m2
T g BAITyYv—7/(RC-40)t=12cm 137.0 137.0 | m2




P K T £ )
4 FR H B = o= | s
Bk T
UZHAIRE(300)587 7% 10.0 10.0 100 m
RATEERY
U (300) PRI e - 7 i 24.8 24.8 248 m
RETEERY)
UZRLIT#(600) 7.2 7.2 7.2 m
RETEERY)
B USRI (600) 8.5 8.5 85 m

A &Y
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AN (1:3)

URLRITE (300) ek

300

i
BI04

$88
1ocL 300

—h

o
P

300 LOO

900

MoOoB | T & s G 2V B B | HAE
UAUITE (300) ek om0V
80kg
URLAIE PU300B 10.000 + 0.605 = 16. 53| {#
t=10cm
T [maivey 0.50 X 0.10 X 10.000 = 0.50] m3
e VA 1:3 0.30 X 0.03 X 10.000 = 0.09[ m3




%

® i B &

URHARHE (300) PRS- B iE
300
TE) | =
(BFIF) e
wavQa:g)
BEITIN-TY = S

iz o T Fi &t B 2V o & | HAL
UBRLEIE (300) TR - %iE om 4V
80kg
USSR | AR 10. 000 10.00] m
80kg
USRI R E | P 10.000 + 0.605 = 16.53| f{#
t=10cm
JERET AT vr-T 0.50 X 0.10 X 10.000 = 0.50] m3
A 1:3 0.30 X 0.03 X 10.000 = 0.09] m3




OB i R

I

URUAAIITEE (600)

kYo

7R -

600

VAN (1:3)

{7 7 P
= BAYII-IY =
MR | T 7 B = B & | HAL
UZLEREE (600) 0m 4V
196kg
USRI PUG00 10.000 + 0.605 = 16. 53| {#
t=10cm
HpET [mars-sy 0.80 X 0.10 X 10.000 = 0.80[ m3
VA 1:3 0.60 X 0.03 X 10.000 = 0.18] m3




OB R B O&

B URTANE (600)
120 "
R 600
(1B E)
v
! oo
: o
I E A =
100 450 100
_ 650 _
= E HYT s
L e y £ ey
g 3 g &5
RIE  A=1.21m2 HEREL A=0.61m2
iz o T Fi &t B 2V o & | HAL
BIRAUAITE (600) om 49
1084kg
HER 600 10. 000 1.000 = 10. 00| &
t=15cm
T Eve 0. 65 0.15 X 10.000 = 0.98] m3
LA 1:3 0. 45 0.03 X 10.000 = 0.14] m3
A L
IR 1.21 8.50 = 10.29 m3/= (LT~3FF)
A L
R L 0.61 8.50 = 5.19 m3/z (ET~FH)




B # WM T £ i &

4 g A = o & |H 7
By T
B =FV—=W(iE F i) Gr-C—4E 20.0

= 20.0 20.0| m
R8N




4
i A
& [H 7

MET
RV 7Y —M18-8-20)t=5cm 59
S LY ?
= 59.9
59.9 [ m2




. = T % F %
4 H B 2V o= | s
BELT
B=FV—=UEH H)Gr-C-4E 20.0 20.0 200 m
X LD
AsEliEEEIWr(t=4cm) 35 + 50 + 3.3 11.8 11.8 m
X LD
AsEEERE (t=4em) 148.2 148.2 148.2 | m2
X LD
AsTRIERE - AL557(1L=9.8km) |V = 148.2 x 0.04 5.9 59 m3
AsUIBriGIesLsy V= 11.8 x 0.04 x 0.023 0.01 0.0l [ m3
E
PUTRL RiF SR Y=
Coff i gL 10.0 x 0.055 + 9.2 x 0.562 + 72.3 0.05
S X - R L
9.3 9.3| m3
Coidad it - 255(1.=9.8km) 9.3 9.3 9.3 m3




TH4  fElIsREXEERLSE

L & AETT PRI A

=N
(6-103)

BT BMOKERS BARKER




& # (6-103)

T f& =l A Bl G s HAL MSEE | REHEaE | W =z
+T
390.0 391.5
Yl+(C) m3
160.0 161.1
4 (B1) A m3
520.0 521.4
FEEUE L (B2) A 35 m3
41.0 41.1
JRHE (CF) m3
28.0 28.3
HEL (BF) m3
360.0 357.2
B IE [.=6.0km m3
TR
110.0 106.0
SRSy m2
110.0 106.0
T A m2
LT
201.0 201.0
EiEESEIH #JE FIAEBBRIET 27 13mm t=4cm m2
201.0 201.0
b JE FAERRA (RM-40) t=8cm m2
201.0 201.0
T s A0y v4—FY (RC-40) t=12cm m2
PEEET
1.0 1.0
ffisRA T VATERIAN =
19.3 19.3
KI5 7 ay ) % 35cm m
1.0 1.0
15/hm ik =
1.0 1.0
2% /A Ik =
BT
11.6 11.6
USR{AIR(300) 4 PU300 X 300 m
44.2 44.2
USR{AIR#(300) TR RS - g PU300 X 300 m
ByEEHR T
T 81.0 81.0
H—=NV=V (i) Gr-C—4E m
BET
T 81.0 81.0
=M= Gr-C—4E m
30.0 29.6
AsEliZE L) by t=4cm m
162.0 162.1
AstfigERE t=4cm m2
6.5 6.5
AsBOE - 5Ly L=9.8km m3
1.0 1.0 V=0.03m3
AsUIKHE KL 5y X




+ T # & ¥ & F
4 g % & L = ¥ & |HAL
BIE L TEEFHRELY
1TX 2T X
319.3 + 72.2 = 391.5 | 391.5
i (©) m3
1T 2T.X
126.3 + 34.8 = 161.1 161. 1
Rt (B1) m3
1T s AR gk T.C-40
% (Rl BB 1=0) 528.7 - 7.3 = 521.4 | 521.4
B UKL (B2) m3
1T 2T.X
1.1+ 30.0 = 41.1 41.1
PR (CF) m3
1TX 2T X
8.3 + 20.0 = 28.3 28.3
HWEREL (BF) m3
1LX
1T 319.3 + 11.1 -( 126.3 + 521.4 + 83 )/ 0.9 = -398.5| -398.5
% EW m3
2TX
2T 72.2 + 30.0 -( 34.8 + 20.0 )/ 0.9 = 41.3 41.3
P 1 4L B m3
1T 2T.X
&5+ -398.5 + 41.3 = -357.2 | 357.2
% - EHE L=6. Okm m3




+ T % o&E E A E QLX)
= 20.000 ) +(C) % +(B1)
A | SERN R S5 W A
3 el DLVE | EHovE| H & TEHDYE &=
NO. 0 0.5
NO. 0 10.000 0.0 0.25 2.5 3.45 34.5
NO. 1 10.000 0.4 0.20 2.0 4.45 44.5
NO. 1 + 12.266 0.1 0.25 3.1 2.70 33.1
NO. 2 7.734 20.7 10.40 80.4 1.65 12.8
NO. 2 7.000 16.9 18.80 131.6 0.15 1.1
NO. 2+ 3.198 14.0 15.45 49.4 0.10 0.3
NO. 2+ 6.802 0.8 7.40 50.3 0.00 0.0
57.000 319.300 126.300




+ T H & 5 H F QTK)

WSy F L= 20.000 FX7-UE+(B2) RIE(CF)
A | SERN R WA SRl A
M i DYE (EHoE| H = DYE |pHonEl M &

NO. 0o + 0.000 0.0 0.3
NO. 0o + 10.000 10.000 0.0 0.00 0.0 0.0 0.15 1.5
NO. 1 + 0.000 10.000 0.0 0.00 0.0 0.3 0.15 1.5
NO. 1 + 12.266 12.266 0.0 0.00 0.0 0.3 0.30 3.7

P.1
NO. 2+ 0.000 7.734 27.9 13.95 107.9 0.1 0.20 1.5
NO. 2+ 7.000 7.000 32.3 30.10 210.7 0.1 0.10 0.7
NO. 2+ 10.198 3.198 31.7 32.00 102.3 0.2 0.15 0.5

P.2
NO. 2+ 17.000 6.802 0.0 15.85 107.8 0.3 0.25 1.7

57.000 528.700 11.100




+ T % o&E E A E QLX)

HEEyF L= 20.000 HEL(BF)
Wrm e [ iE Wrimfg | R AE
DIz (=Y e OB DYE |FHovE 0 B ohE (EHopE|l #H &
w5 w5 w5 w5
NO. 0 + 0.000 0.2
NO. 0 + 10.000 10.000 0.0 0.10 1.0
NO. 1+ 0.000 10.000 0.2 0.10 1.0
NO. 1+ 12.266 12.266 0.2 0.20 2.5
IP.1
NO. 2 o+ 0.000 7.734 0.1 0.15 1.2
NO. 2 o+ 7.000 7.000 0.1 0.10 0.7
NO. 2 o+ 10.198 3.198 0.2 0.15 0.5
P.2
NO. 2 o+ 17.000 6.802 0.2 0.20 1.4

57.000 8.300 0.000




+ T %o E A E (2LX)

WSy F L= 20.000 ) +(C) % +(B)
A | SERN R WA SRl A
B P DLVE | EHovE| H & ohE |EHovE| % =
NO. 0o + 0.000 4.8 0.0
NO. 0o + 5.000 5.000 2.6 3.70 18.5 3.9 1.95 9.8
NO. 0o + 13.000 8.000 3.2 2.90 23.2 1.2 2.55 20.4
NO. 1 + 0.000 7.000 5.5 4.35 30.5 0.1 0.65 4.6

20.000 72.200 34.800




+ T %o E A E (2LX)

HREYyF L= 20.000 JRHE(CF) HLRL(BF)
Wrimfe [ CPIWTEAE Wrifd [ PAWT AR
[ BE OB DOYE | EeoLE|l K & OLE | HoLEl K &
W5 | W& 5 | B
NO. 0 + 0.000 1.5 1.0
NO. 0 + 5.000 5.000 1.5 1.50 7.5 1.0 1.00 5.0
NO. 0 + 13.000 8.000 1.5 1.50 12.0 1.0 1.00 8.0
NO. 1o+ 0.000 7.000 1.5 1.50 10.5 1.0 1.00 7.0

20.000 30.000 20.000
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B A B R |HAL

EmEL P LD

1T

106. 0 106.0 | 106.0
g LRI m2

LT

106.0 106.0 | 106.0
TEF- RS

m2




WMOE L & B B =
4 i B g L = BB | HAAL
HZET SEER LD
1TX 2T X
HABRIEETA2/13m] 170.9 +  30.1 = 201.0 | 201.0
B t=4cm m2
1T 2T X
BRI A RM-40) | 170.9 +  30.1 = 201.0 | 201.0
J:E%ﬁ% t=8cm m2
1TX 2T X
FA 79177 (RC40)| 170.9 + 30.1 = 201.0 | 201.0
T B t=12cm m2




W OE T & B B F R
4 R B g =) 2V o & [HAL
PERET IR : JBREKEY 20K #iERLY
1TIX
1.0 = 1.0 1.0
R+ T VU AFRAIAN =
2T X
(¢ 20.107 - 0.3 X 2 )+(19.781 - 0.3 X 2 )/ 2 19.3
KIURE H 7" ny ) £ % 35¢cm = 19.344 m
2T
1.0 = 1.0 1.0
15/hA Ik H=2. 94m st
2T X
1.0 = 1.0 1.0
28 /hA 1k H=3. 14m




HEELTTIHE—EX

I Al Gl B = e
BB =wh) H=0.6m m? 108.0 |54 WL
set 150
HEETDS AD-GR-00 m? 1.1
® 28
BEEEM SP-70E*BS 1%50 m? 180.0
HRAER Y MIEED —F [SG-MTG*GR25 m 180.0
CATERELIL HG-36 m? 2238
HRELT ((7TL) HG-50 m? 343.2
EEESEIEM uc-20 m? 100.8
BEREAERT m? 667.8
EfEeE AD-JGL*AZ-SET set 32
BEE> AD-D10%200 X 404 |SHATXREAIL
224 |EEmEa&ib#t
Ba (EBEHKI) C-40 m® 63.8
W URA LR 44 (BB HEK T A) [S-100 m? 93.4
kT 7k11$3t7k$z EF-3 m 158.0
K ik K 4 S-300 m? 94.2
+T FEHL-HEHLHEHT m® 5215




BRI THENREE

HE FER
*HEEEREY
SHBLAA( 2= b HEBE—YMDER 180.0 m
*AERO =y ERM)/ RO =Y 1setH =Y DIE(1.2m/set)
#= (v  180.0/1.2= 150 set
*HEHEEREY
BAEEDS s 1.1 m?
*T DSBEEREM?) X 1m?4=Y DT DS5E(EE/m?)
H=E(EH) 1.1 x25= 28 &
BEEE *EEHRLY 2
180.0 m
. *HEEEREY
ek FHRAEERR Y MITEE S —b 1800 m
DA TIREALIL HHEEHERELY (BRER M) (BERER)
(7T L) HG-36 223.8m 456 m
HG-50 343.2m 67.2 m
B EaR LAt *HEEERLY (%&Eﬁﬁ%)ﬁ (BRER)
100.8n1 67.2 m
EeE *HG-36~HG—60: 2set/36m?, HG-80:3set/36m”, HG-100~HG-150: 4set/36m’, HG-200: 5set/36m>
(223.8+343.2+0.0) x 2/36+0.0 X 3/36+(0.0+0.0+0.0) X 4/36+0.0 X 5/36= 32 set
HOATHFRIAIVEELE R (m)/1.2(m) + IR BE D BUER A SR X 4(K) (HEERM1RICDOE4RER)
Ewes ((45.6+67.2+0.0+0.0+0.0+0.0+0.0+0.0) /1.2+7) X 4= 404 K
*EEE AL MBS TR (m)/1.2(m) X 4(K) (FRRMIIZDZ4ARER)
67.2/1.2 X 4= 224 K
®a *ERPKTHERLY * ORE 20 %
(EfEHEKT) 53.2%x1.2= 63.8 m®
%t LRGLE A4 *E MK THERLY
(E8HKTA) 934 m?
KEgkst | R RS
1580 m
Riggks | R RS

94.2 m?




HEHEER (1)

s g X% N
17 By 7 T ‘ &t
MEA(A=YH)
H=0.6m | m | 84 1572 96 | 48 | 180.0 |
EELTDS
AD-GR-00 | m | 00 10 | 00 | 01 | 1.1
[BEEEM
SP—70E4BS 1450 | m | 84 1572 96 | 48 | 1800 |
WEES—+
wamERyMiEES—F | m | 84 1572 96 | 48 | | 180.0 |
CHATHRRELIV (FTL)
HG-36 m? 9.6 189.0 144 10.8 2238
m 2.4 36.0 356 36 456
HG-50 m? 9.6 324.0 9.6 0.0 343.2
m 2.4 62.4 2.4 0.0 67.2
HG-60 m? 0.0 0.0 0.0 0.0 0.0
m 0.0 0.0 0.0 0.0 0.0
HG-80 m? 0.0 0.0 0.0 0.0 0.0
m 0.0 0.0 0.0 0.0 0.0
HG-100 m? 0.0 0.0 0.0 0.0 0.0
m 0.0 0.0 0.0 0.0 0.0
HG-120 m? 0.0 0.0 0.0 0.0 0.0
m 0.0 0.0 0.0 0.0 0.0
HG-150 m? 0.0 0.0 0.0 0.0 0.0
m 0.0 0.0 0.0 0.0 0.0
HG-200 m? 0.0 0.0 0.0 0.0 0.0
m 0.0 0.0 0.0 0.0 0.0
M DB ER AR K # 0 7 0 0 7
B
uc-20 m? 5.4 88.2 5.4 18 1008
m 36 58.8 36 12 67.2
IKFEHEKH
EF-3 | m | 40 1500 40 00 | | 158.0 |
RimHe k4
$-300 | m | 48 810 | 48 36 | 94.2 |




ERPKIHER

* EBPKTRE AR (BRIE+XIHR) X &S 0.60(m)+2 ¥ ER

HEBRHOKT REARTE 532 m®
0%t LB LE #4(S—100) 934 m?

BEknE Kiff EE REARTE WELHIEM EEIDE

(m) (m) (m) (m%) (m%)
1 4.00 4.00 1.200 2.88 480 | (1:0.5)
2 5.00 5.00 12.000 36.00 60.00 | (1:0.5)
3 5.00 5.06 3.600 10.86 1822 | (1:0.6)
4 4.00 4.06 1.200 2.90 487 | (1:0.6)
5 0.30 0.30 1.200 0.22 036 | (1:0.5)
6
7
8
9
10 |FEAEREM 0.33 5.10
11
12
13
14
15

&E&t 53.19 93.35




HEHEEQ)

XE% :

B | BEad |[BEEEEH| EEL—+ BEmsa{b At N TKEHEK# KimHEK

& EE [EExim| REBEE EE BERETE | oA R EE BERWETE | BEH R | OHERRET | BEE EE BERmiE

= (m) (m?) (m) (m) (m%) PR (m) (m) (m%) (%) (m) (m) (m) (m) (m%)

15

14

13

12

11

10

9 1.200 1.2 1.200 HG-36 40 1.200 48 40 1.200 438

8 1.200 1.2 1.200 1.200 1.8

7 1.200 1.2 1.200 HG-36 40 1.200 438

6 1.200 1.2 1.200 1.200 1.8 40 4.0

5 1.200 1.2 1.200 HG-50 40 1.200 438

4 1.200 1.2 1.200 1.200 1.8

3 1.200 1.2 1.200 HG-50 40 1.200 438

g 8.400 84 8.400 3.600 54 4.800 19.2 4.0 1.200 48
EELTDS (m?)




HEHEE Q)

X4 : 2
B | BEad |[BEEEEH| EEL—+ BEmsa{b At T T L TKEHEK# KimHEK
& EE [EExim| REBEE EE BERETE | oA R EE BERWETE | BEH R | OHERRET | BEE EE BERmiE
= (m) (m?) (m) (m) (m%) PR (m) (m) (m%) (%) (m) (m) (m) (m) (m%)
15
14
13
12
11 4.800 4.8 4.800 HG-36 50 4.800 24.0 50 4.800 240
10 12.000 12.0 12.000 12.000 18.0 5.0 20.0 5.0 7.200 36.0
9 15.600 15.6 15.600 HG-36 5.0 15.600 78.0 50 3.600 18.0
8 15.600 15.6 15.600 15.600 234 5.0 35.0
7 15.600 15.6 15.600 HG-36 5.0 15.600 78.0
6 15.600 15.6 15.600 15.600 234 5.0 30.0
5 15.600 15.6 15.600 HG-50 5.0 15.600 78.0
4 15.600 15.6 15.600 15.600 234 5.0 35.0
3 15.600 15.6 15.600 HG-50 5.0 15.600 78.0
2 15.600 15.6 15.600 HG-50 5.0 15.600 78.0 5.0 30.0
1 15.600 15.6 15.600 HG-50 5.0 15.600 78.0
5 157.200 157.2 | 157.200 58.800 882 98.400 4920 150.0 15.600 78.0
EELDS 10 (m?)




#HEFHEE (2) [IRREE]

X% 2 (IInAE 1825 ° )
=l 7T L
& M HEER = BE HER 5 BUER R B BER HER 5 BER sRmiE BAE
= 2% (m) (m) (#0) (m) (m) (#0) (m) (m) (#0) (m) (m) (#) (m%) (m)
15
14
13
12
11 |HG-36 5.0 0.6 1 3.0
10
9 |HG-36 5.0 0.6 1 3.0
8
7 |HG-36 5.0 0.6 1 3.0
6
5 |HG-50 5.0 0.6 1 3.0
4
3 |HG-50 5.0 0.6 1 3.0
2 |HG-50 5.0 0.6 1 3.0
1 |HG-50 5.0 0.6 1 3.0
= 7 0 0 0 21.0
i &5t 7 K

Kim kK44 30 m?




HEHFEEQ)

XE% : 3

B | BEad |[BEEEEH| EEL—+ BEmsa{b At N TKEHEK# KimHEK

& EE [EExim| REBEE EE BERETE | oA R EE BERWETE | BEH R | OHERRET | BEE EE BERmiE

= (m) (m?) (m) (m) (m%) PR (m) (m) (m%) (%) (m) (m) (m) (m) (m%)

15

14

13

12

11 1.200 1.2 1.200 HG-36 40 1.200 48 40 1.200 438

10 1.200 1.2 1.200 1.200 1.8 40 4.0

9 1.200 1.2 1.200 HG-36 40 1.200 438

8 1.200 1.2 1.200 1.200 1.8

7 1.200 1.2 1.200 HG-36 40 1.200 438

6 1.200 1.2 1.200 1.200 1.8

5 1.200 1.2 1.200 HG-50 40 1.200 438

4 1.200 1.2 1.200 HG-50 40 1.200 438

5 9.600 9.6 9.600 3.600 54 6.000 240 40 1.200 48
EELTDS (m?)
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= (m) (m?) (m) (m) (m%) PR (m) (m) (m%) (%) (m) (m) (m) (m) (m%)
15
14
13
12
11 1.200 1.2 1.200 HG-36 3.0 1.200 3.6 3.0 1.200 3.6
10 1.200 1.2 1.200 1.200 1.8
9 1.200 1.2 1.200 HG-36 3.0 1.200 3.6
8 1.200 1.2 1.200 HG-36 3.0 1.200 3.6
g 4.800 438 4.800 1.200 1.8 3.600 10.8 0.0 1.200 3.6
EEEXDS 0.1 (m?
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=SZEPe 150 BAE
360° B 500
EREFKEERHER HKGERKY)
ER EE ER EE
1 1314 11 21 31
2 | 1579 12 22 32
3 | 13370 13 23 33
4 4631 14 24 34
5 | 1.360 15 25 35
6 16 26 36
7 17 27 37
8 18 28 38
9 19 29 39
10 20 30 40
5 22254 £ 0.000 £ 0.000 £ 0.000
&5 22254 m
BEAY &
EEHEKE (150, 360° HILE )
22254 m
IILRE
0 X 2 = 0 & B ENUEMI BRT ST Y2{E
T4 ILA—%%(C-40)
(050 x 0.50 -mx 0075 2)x 2225 = 5.17
AR (R LR LEA)
0.50 x 4 x 2225 = 4450
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TR TR BRAREER REEER
1 | 5000 11 1 4600 1"
2 | 5.000 12 2 | 4600 12
3 13 3 13
4 14 4 14
5 15 5 15
6 16 6 16
7 17 7 17
8 18 8 18
9 19 9 19
10 20 10 20
£+ 10.000 £ 0.000 s 9.200 £ 0.000
&% 10000 m &5 9200 m
SR HEKE (@150, 240° HHE )
10000 m
TEDIINE
2 X 1 2 & *HEKBE1ASHU1E
T4 )L3—%%(C-40)
9200 m
(050 x 0.50 X 0075 2)x 9.20 = 2.14
i (R UBALE#)
0.50 x 4 9.20 = 1840
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1:05 | 3.161 3.6 + 05 = 41
1:05 | 3.062 35 + 05 = 40
1:06 | 4210 5.0 + 05 = 55

5 136 m
AR (E/RLY)

136 m
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0.812 X 19.181 = 15. 57
AR m2
( 0.614 X 0.15 + 0.100 X 0.05 )X 19.181 = 1. 86
FepfEas))-p-H 21-8-20 m3
( 0.100 + 0.150 + 0.050 )x 19.181 = 5.75
] TR N m2
PEZ ( 2.682 X (11.681 + 1.500 )+ 3.129 X 6.000 )x 1.118 = 60. 51
REEFN7 ny 5| 3bem m2
2.100 X 60.51 / 10 = 12.71
fiA= )= | 21-8-20 10m224 Y m3
60.51 X 0.100 = 6. 05
HiAay))-b | 21-8-20 m3
KEI 7 a v 7B L= (19181 + 19.507 )/ 2 = 19.344
KA e~ 2 > 7 ¥ H=60.51 /((19.181 + 19.507 )/ 2 ) = 3.128
( 0.300 +( 3.128 X 0.1 + 0.300 ))/ 2 X 3.128 X 19.344 = 27.62
BHOA M |marieey m3
0.503 X 0.283 X 19.507 = 2.78
Kugas))-p-H 21-8-20 m3
0.283 X 2 X 1.118 X 19.507 = 12. 34
[F] TR N m2
t=10mm 1.723 (10mFEEIZ 15 A) = 1.72
H Hkt ITABA | m2
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300 784
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EHE Ck
A 01,118 SR
I N t L =V K B | HAY
1B/ d Ik e
t=20cm 1.122 X 0.300 = 0. 34
pwyvi BTy m2
( 0.784 + 1.122 )/ 2 X 2.948 X 0.300 = 0. 84
2/)) - 21-8-40 m3
( 0.784 + 1.122 )/ 2 X 2.937 + 2.937 X 1.118 X 0.300 = 3.78
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t=20cm 1.121 X 0.300 = 0. 34
RS R Ty -5y m2
( 0.682 + 1.121 )/ 2 X 3.148 X 0.300 = 0. 85
ay) )=} 21-8-40 m3
( 0.682 + 1.121 )/ 2 X 3.148 + 3.148 X 1.118 X 0.300 = 3.89
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11.6 11.6 11.6
U A (300) X m

1T 1T 1T

3.0 + 6.3 + 6.9 44,2 44. 2
U LA (300) PRI - RE m
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NO.1
URURITE: 158 (300 X 300)
‘ 50 ‘ 300 50 1#8 300A (JIS A 5372)
260
BEEJLA2IIL 1:0.3 | ;
BESISyLv—5Y =
100 ‘ 300 100
[ I
500
4 R 7 Pl B 1 = oo & HAL
UMAE 182 (300X 300) 10m %49
15E
U A | 300X300 10.00 10.00 | m
OB M |EAITyvrT] 0.50X0.10X10.0 0.50 | m
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5.0 + 24.0 = 81.0 81.0
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4 b B % g B = & [HAAL
#WELT FmE LY
1LX 2L
57.0 + 24.0 81.0 81.0
B =N V=n Gr—-C—4E m
1LX 21T X
6.2 + 23.4 29.6 29.6
AsEl L) t=4cm m
1LX 2L
132.0 + 30.1 162. 1 162. 1
AsEl L= t=4cm m2
1 LXK 21X
132.0 + 30.1 )X 0.04 6.5 6.5
AsTROER: - W5y L=10. Okm m3
1LX 2L
6.2 + 23.4 )X 0.04 X 0.023 0.03 0.03
m3




